
���� �������	
��
� �	�	���������� ������� ���
��� ���������� ! ������" Jxyc

= 0 � #$��%� &$�%�'(��� &�$)�
αx = −SxωB

/Jxc
, αy = SyωB

/Jyc
. *+,-./

0, 1��$�� 2&(�% ��3�$��'�4� ! &�$)'5�" ωA

������� &�� &$�(��6 7����� �89�:' � &�$�86$�4�$" �'�'�4�$" �$�3�,;, < ������� ��3�$��'�4�$=��'�����3�" �$���� &�$)'5� &�$#�=��
SωA

F =

∫

F

ωdF. *+,->/

?&��5����� 3$���'��% D @ 8'5'()%( 9�'6� � ��3�$��'�4� � &�$)'=5�@
D = SωA

/F. *+,--/
A, 1��$�� 2&(�% 9�'6� ! ��3�$��'�4� ! &�$)'5�" �������

ω = ωA − D. *+,-+/
.B, < ������� ��3�$��'�4� " �$���� ����7�� *:��$���� ����=7��/ �������

Jω =

∫

F

ω2dF. *+,-C/

��� &�$6��3� �$D�$ 6 ������4 ��3�$��'�4�$=��'�����3�" �$����&�$)'5� &�$#��� Sω

, E��� &$�(� �'!$5���� 6 7����� �89�:'@ �$ $�5$�D�� : �4 �'6�� �%�(,
FGHGIG JKL M'"�� 9�$��������3�� !'�'3�������3� ���������=�$9$ ������� �$�3$�����$9$ ����D�� $�3� �$9$ &�$#��� *���, .AC/,

b b b b

h

δ1

δ2 δ2

y

x

NOP� �QR NOP� �QS
T'8��� $��$����� 3 ���5��� ������ ������� � %3'8'� 6 �'���=����'!, U$�)��' ����3� �'6�' . ��, 1���D��4 �$��$�� �8 &�'���� �$�)��$" δ1 = 1, 5

�� � 56%! %9$�3$6 b × h �$�)��$" δ2 = 1
��

*���, .AV/, �'�$ b = 23
��@ h = 21

��,
WXYXZ[X



��� ��������
���� �	����	
�� N����� �
., ?&��5����� &�$)'54 ������� 3'3 �%��% &�$)'5�" &��� �$��'6=��()�! &���$%9$�4��3$6

F =

5
∑

i=1

liδi = 4bδ1 + 2(b + h)δ2 = 226
��2.

>, ?&��5����� 3$$�5��'� 7����' ��D���� �������, <6$5�� ��=����% 3$$�5��'� � �'�'�$� 6 �$�3� B *���, .AC/, 1��$�� 2&(� 3$$�5��'� �$��3 ������" *���, .A0@ .A;/,

−23
23

46

−46

−46

46

x

−21 −21 −21

y

NOP� �Q� NOP� �Q�
	$$�5��'� 7����' ��D���� $&��5����� &$ #$��%�'� *+,>0/, 
�=��9���$6'��� 8'������ �%����$6'����, �'���'�@ ��$ �' 3'D5$� i=� %�'��3� dFi = δids @ 95� δi �

�$�)��' ������� �' %�'��3�@ ds �5�##����7�'� 5%9�@ &$�%�'��
∫

li

ydF = δi

∫

li

yds = δiYi,

95� Yi �
&�$)'54 2&(� y �' i=� %�'��3�, 1������ ����������$$��$�����4�$ $�� y @ $��(5' xc = 0

, 
$�48%��4 2&(�$" y �' ���, .A;@6 ��������
yc = −2δ2((1/2) · 21 · 21 + 21 · 23)/226 = −6, 23

��.

-, ?&��5����� 9�'6� � �$���� ����7�� �������,�$���� ����=7�� $��$�����4�$ 6 :�'�� ! $��" $&��5����� &$ #$��%�'� *+,>;/,

���9���$6'��� 6 &$����� &$ &�'6��% <���)'9��'@ %��$D'� &�$=)'54 $5�$" 2&(� �' $�5��'�% 5�%9$" &$5 7����$� ��D���� &��6$",

$�48%���� 2&(�$" y �' ���, .A;@ �$5��D')�" 56' %�'��3' *� %���$����������/, ���$D'�� 2&(�% �'�% �' ��:� � �'!$5���

Jx = 2δ2

(

1

2
· 21 · 21 ·

2

3
· 21 + 21 · 23 · 21

)

= 26460
��4

?�5��'�' 6 5����' &$�%D��� � ���#�$�@ δ2 = 1
��, �'�����@��$ &�� �'3$� �&$�$:� 6 �������� �$����$6 ����7�� �� %��� 6'=(��� �$���� ����7�� &���$%9$�4� ! �'���" ������� $��$�����4�$



���� �������	
��
� �	�	���������� ������� ��Q
�$:��6��� ! 7����'�4� ! &�$5$�4� ! $��" � , ��'�$9���$@ &$�48%��42&(�$" x �' ���, .A0@ &�� δ1 = 1,5

�� &$�%�'���
Jy = 2

(

δ1
1

2
· 46 · 46 ·

2

3
· 46 + δ2

(

23 · 21 · 23 +

+
1

2
· 23 · 23

(

2

3
· 23 +

1

3
· 46

)

+
1

2
· 46 · 23

(

2

3
· 46 +

1

3
· 23

)))

=

= 176333,33
��4.

M'!$5�� 9�'6� � �$���� ����7�� �������
Jxc

= Jx − y2
cF = 26460− 6,232

· 226 = 17700,49
��4,

Jyc
= Jy − x2

cF = Jy = 176333,33
��4.+, 1��$�� 2&(�% ��3�$��'�4� ! &�$)'5�" ωB

�������,
$�(�B ��'�'�4�%( �$�3% �'�&$�'9'�� �' $�� ���������
�
6 �'�'�� 3$$�5��'�

*���, .AA/, ?��6�5�$@ ωB
B,C = 0 @ ωB

B,C′ = 0 @ ωB
B,K = 0 @ ωB

B,K′ = 0 � ,

-�

?? -� R	

CC′K′ K

DD′ E
E′

B

−483

−483

+483

ωB

B

NOP� �QQ NOP� ���
��� &�'6$" &$�$6�� ������� &$�%�'��

ωB
C,D = bh = 483

��2, ωB
E,D = −bh = −483

��2,

ωB
B,E = ωB

B,C + ωB
C,D + ωB

E,D = 0,

ωB
B,D = ωB

B,C + ωB
C,D = 483

��2.
��'�$9���$@ 5�� ��6$" �'���

ωB
C′,D′ = −bh = −483

��2, ωB
E,D′ = bh = 483

��2,

ωB
B′,E′ = ωB

B,C′ + ωB
C′,D′ + ωB

E′,D′ = 0,

ωB
B,D′ = ωB

B,C′ + ωB
C′,D′ = −483

��2.

����	�� 
���
�	O� ��� ����	�� O	���OO P���	O�� P�P������� O� ����
�������	O��
� O���� 
O� Jx = 4bδ3

1/12 + 2bδ3

2/12 + 2δ2h
3/3 + 2bδ2h

2
=

= 26489, 71 P�4. � ��O��O
�		�� 
���
�	OO ���
�� �
� P��������� P��
���
��O� δ3 � 	� ����	�� ������	�P�� P�P��
���� ������� ������ �P�O ��O ����O K1

� K2
O K3

��
�� 	� ��	� ����� � ��P�����O���	�� ������� ωK1

K2,K3

����O ��O
� K3
��	�PO����	� ����O K2P ��
!��� K1

��
	� 	��"�



��� ��������
���� �	����	
�� N����� �
M' ���, >BB �8$:�'D��' &$�%����'� 2&(�',

C, ?�� 3$$�5��'� �$6��)'�� � 9�'6� �� 7����'�4� �� $����������� *���, >B./, 1��$�� 2&(�% 3$$�5��'� y 6 �$6$" *7����'�4=�$"/ ������� 3$$�5��'� *���, >B>/, <�� $�5��'� 2&(� �' ���, .A;&$�%�'� &���')���� V@>-@ ' 2&(�' x �� �8�������@ �,3, xc = 0
,

23 23 23 23

6.23

14.77

y

x

�14.77 �14.77

+6.23

+6.23

yc

NOP� ��� NOP� ���
< ������� ��3�$��'�4�$=����"� " ��'�����3�" �$���� SyωB

@ &���=��$D'� 2&(�% 3$$�5��'� x *���, .A0/ � 2&(�% ��3�$��'�4� ! &�$=)'5�" ωB *���, >BB/, 1 %���$� ��������� #%�37�� xωB @ &$ &�'6��%<���)'9��' &$�%�'��
SyωB

= 2δ2

(

483

2
· 21 · 23 +

483

2
· 23 ·

(

2

3
· 23 +

1

3
· 46

))

= 573965
��5.

U'3 3'3 2&(�' ω '�������������'�@ ' 2&(�' y
����������'�

*���, >B>/@ �$ SxωB
=

∫
F

yωdF = 0
, �&(�' 3$$�5��'� y 6 �$6$"

*7����'�4�$"/ ������� 3$$�5��'� 6 5'��$� ��%�'� �� &$���:$6'�'�4,V, ?&��5����� 3$$�5��'� 7����' �89�:' A� αx = 0, αy =
= SyωB

/Jyc
= 573965/176333,33 = 3,26

��.0, 1��$�� 2&(�% ��3�$��'�4� ! &�$)'5�" ωA

������� &�� &$�(��6 7����� �89�:' A � �'�'�4�$" �$�3� B *���, >B-/,

�408.14 408.14
−149.73

−149.73
149.73

149.73

74.86
−74.86

ωA

A

�� ���� ��

����

NOP� ���
;, ?&��5����� 3$���'��% D @ 8'5'()%( 9�'6� � ��3�$��'�4� �&�$)'5�, < 5'��$� ��%�'� 2&(�' ωA

����� &�$)'54 �'6�%( �%�(@ �'33'3 ������� ����������$@ ' �$�3' $�����' ��3�$��'�4� ! &�$)'5�"*�'�'�4�'� �$�3'/ : �' 6 :�'�' �' $�� ���������, 
�'3@ SωA
=

=
∫
F

ωdF = 0 � D = SωA
/F = 0.



���� �������	
��
� �	�	���������� ������� ���
A, �&(�' 9�'6� ! ��3�$��'�4� ! &�$)'5�" ������� ω = ωA − D&�� D = 0

�$6&'5'�� � 2&(�$" ωA *���, >B-/,.B, < ������� ��3�$��'�4� " �$���� ����7�� ������� Jω

, ���$=D'�� 2&(�% ω *���, >B-/ �'�% �' ��:�, 
���9�'� :���� &$ &�'6��%<���)'9��', ���� 6'�� ��������( 2&(� *$:)�" ��$D����4 >/@%��$D'�� &�$)'54 2&(� �' �� $�5��'�% &$5 7����$� ��D����,?�5��'�% 6 5����� ���#�$��

Jω =

∫

F

ω2dF = 2δ1

(

149,73

2
· 46 ·

2

3
· 149,73

)

+

+2δ2

(

74,86

2
· 21 ·

(

2

3
· 74,86−

1

3
· 408,14

)

+

+
408,14

2
· 21 ·

(

2

3
· 408,14−

1

3
· 74,86

)

+

+
408,14

2
· 23 ·

(

2

3
· 408,14−

1

3
· 149,73

)

+

+
149,73

2
· 23 ·

(

2

3
· 149,73−

1

3
· 408,14

))

=

= 4974887,924
��6.

��������� ��E��� 6 &,+ &$�(� � �'�'�4�%( �$�3% &$������4 6 �$�=3%C′ @ �$ &$�%����� 5�%9'� 2&(�' ��3�$��'�4� ! &�$)'5�" *���, >B+/@

�� ��

����

+483 +966
+483

ωC′

C′

y

x
A
αy

αx

NOP� ���
$5�'3$ ������� �� �8�������@ �'3 3'3 6 &, C �'"5��

SxωC′
=

∫

F

yωdF = δ2

(

966

2
· 21 ·

(

−

2

3
· 14,77 +

1

3
· 6,23

)

+

−

966 + 483

2
· 23 · 14,77−

1

2
· 483 · 23 · 14,77

)

= −407111,30
��4.

1�3�$��'�4�$=����"� " ��'�����3�" �$���� $��$�����4�$ $�� y�� �8�������� SyωC′
= SyωB

= 573965
��5.

< &, V $&��5���� 3$$�=5��'� 7����' �89�:' 6 ������� 3$$�5��'� � 7����$� 6 C′ � αx =



��� ��������
���� �	����	
�� N����� �
= −SxωB

/Jxc
= 407111,30/17700,49 = 23

��@ αy = SyωB
/Jyc

=

= 573965/176333,33 = 3,26
��.

U'3�� $:�'8$�@ 7���� �89�:' $&��4$3'D���� 6 �$�3� A
,

��������� ��	$���'��'D @ 8'5'()'� 9�'6� � ��3�$��'�4� � &�$=)'5� 6 &, ; 6 �'���$�����$� &������ $3'8'�'�4 �'6�$" �%�(@ �'33'3 2&(�' ωA
: �' ����������$" � ����' �%��6%( &�$)'54, M$ 2�$

: 6'�� �� 6��95' � 6�� 8'6���� $� 6 :$�' �'�'�4�$" �$�3�, <$84���
5�� ��'6����� � %D� &$�%���� � ��8%�4�'�$� �'�'�4�%( �$�3% ��
�' $�� ���������@ '@ �'&�����@ 6 �$�3� C′

, ?��'6��� &$�(� 6 �$" D�
�$�3�

�
6 7����� �89�:' A@ &$���$�� 2&(�% ��3�$��'�4� ! &�$)'5�"

*���, >BC/,
A

ω
′

A

C′αyb

αyb

−3αyb

−3αyb

−2αyb

−bh
b(h�3αyb)

αy

NOP� ��R
�&(�' &$�%���'�4 ������������$"@ � �� &�$)'54 $�����' $� �%��

SωA
=

∫

F

ωdF = −2αy(2b2δ1 + bδ2(b + h)) = −16919,5
��4.

M'"5�� 3$���'��% D �

D =
SωA

F
= −

2αy(2b2δ1 + bδ2(b + h))

2(2bδ1 + δ2(b + h))
= −bαy = −74,86

��2.

E��� ��&��4 6 ����4 &$�%����%( 3$���'��% �8 $�5��'� 2&(� ωA�' ���, >BC@ �$ &$�%����� &��D��� 2&(�' 9�'6� ! ��3�$��'�4� !&�$)'5�" *���, >B-/,
FGHGIG J�L M'"�� 9�$��������3�� !'�'3�������3� ������� �$�3$=�����$9$ ����D�� $�3� �$9$ &�$#��� *���, >BV/, T'8��� $��$����� 3



���� �������	
��
� �	�	���������� ������� ���

� �

��

-x

6
y

�

�

x

A

E

B

D

NOP� ��S NOP� ���
���5��� ������ ������� � %3'8'� 6 �'�������'!, U$�)��' ����3� δ�'6�' 0,2

�� � ,
WXYXZ[X
., ?&��5����� &�$)'54 ������� 3'3 �%��% &�$)'5�" ���! &���$=

%9$�4��3$6 *���, >BV/� F =
3
∑

i=1

liδ = (8 + 10 + 4) · 0,2 = 4,4
��2.

-x

6
y

��
��

y

-x′

6
y′ ����

����

����������

y
′

NOP� ��� NOP� ��Q
>, ?&��5����� 3$$�5��'� 7����' ��D���� �������, <6$5�� &��=�$%9$�4�%( ������% 3$$�5��'� � �'�'�$� 6 &�$�86$�4�$" �$�3�@ �'=&�����@ %9�$6$" �$�3� B *���, >B0/, 1��$�� 2&(� 3$$�5��'� �$��3������" *���, >B0@ >B;/,
	$$�5��'� 7����' ��D���� $&��5����� &$ #$��%�'�

xC =

3
∑

i=1

lixiδ/F = 1,82
��, yC =

3
∑

i=1

liyiδ/F = 4,09
��.

������O	�
 �� �� �P	�
� P���O����	� ��	�	O�O ���O	 
 ��� ���O�
	�P����	O�� �Q��� P����



��� ��������
���� �	����	
�� N����� �
��$� D� ��8%�4�'� �$D�$ &$�%���4 8'����6 ����9���$6'���

xC =

∫

li

xdF/F, yC =

∫

li

ydF/F

%��$D����� 2&(� *���, >B0@ >B;/ �' �5�����%( 2&(�% &$ &�'6��%<���)'9��'

xC =
δ

F

(

1

2
· 4 · 4 · 1 +

1

2
· 8 · 8 · 1

)

=
0,2 · 40

4,4
= 1,82

��,

yC =
δ

F

(

1

2
· 10 · 10 · 1 + 10 · 4 · 1

)

=
0,2 · 90

4,4
= 4,09

��.

-, ?&��5����� 9�'6� � �$���� ����7�� �������,�$���� ����=7�� $��$�����4�$ 6 :�'�� ! $��" xy $&��5����� &$ #$��%�'� *+,>;/,

�
���

�����
�����

�����

����

x
′

-x′

6
y′

��
���

A

E

B

D

ωA

NOP� ��� NOP� ���

���9���$6'��� 6 &$����� &$ &�'6��% <���)'9��'@ %��$D'� &�$=)'54 $5�$" 2&(� �' $�5��'�% 5�%9$" &$5 7����$� ��D���� &��6$", <

5'��$� ��%�'� 2&(� �6$86$5�� 6 36'5�'��@ %��$D'� �'��! �' ��:�,

$�48%��4 2&(�$" y �' ���, >B;@ �$5��D')�" 56' %�'��3'@ �'"5���

Jx = δ

(

4 · 10 · 10 +
1

2
· 10 · 10 ·

2

3
· 10

)

= 146,66
��4

?�5��'�' 6 5����' &$�%D��� � ���#�$�@ δ = 0,2
��, ��'�$9���$@&$�48%��4 2&(�$" x �' ���, >B0@ &$�%�'���

Jy = δ

(

1

2
· 4 · 4 ·

2

3
· 4 +

1

2
· 8 · 8 ·

2

3
· 8

)

= 38,4
��4



���� �������	
��
� �	�	���������� ������� ��R
1������ ������������$�@ &$2�$�% 7����$:�D� " �$���� ����7��
$������ $� �%��,
�����$D�� 2&(� 3$$�5��'� �' ���, >B0 � ���, >B;�

Jxy = δ

(

1

2
· 4 · 4 · 10

)

= 16
��4.

M'!$5�� 7����'�4� � �$���� ����7�� �������

Jxc
= Jx − y2

cF = 146,66− 4,092
· 4,4 = 73,03

��4,

Jyc
= Jy − x2

cF = 38,4 − 1,822
· 4,4 = 23,85

��4,

Jxyc
= Jxy − xcycF = 16 − 4,09 · 1.82 · 4,4 = −16,73

��4.

�'�����@ ��$ 2�$� D� ��8%�4�'� �$D�$ &$�%���4 &�����$D'� *���6$86$5� 6 36'5�'�/ �$$�6����6%()�� 2&(� 3$$�5��'� x′ @ y′
� �'�'=�$� 6 7����� ��D���� *���, >.B@ >BA/,+, 1��$�� 2&(�% ��3�$��'�4� ! &�$)'5�" ωA

�������, 
$�(� �
�'�'�4�%( �$�3% �'�&$�'9'�� 6 &�$�86$�4�$" �$�3�@ �'&�����@ �$�3�
A *���, >../, ?��6�5�$@ ωA

A,B = 0 @ ωA
A,D = 10 · 8 = 80

��2 @ ωA
A,E =

= ωA
A,D + ωA

D,E = 80 + 10 · 4 = 120
��2.C, ?�� 3$$�5��'� �$6��)'�� � 7����'�4� �� $���� �������, 1��$=�� 2&(� 3$$�5��'� x′ @ y′ 6 �$6$" *7����'�4�$"/ ������� 3$$�5��'�

*���, >.B@ >BA/, <�� $�5��'� 2&(� �' ���, >BV &$�%�'� &���')����
−1,82 @ � 2&(�' 3$$�5��'� x &����� 6�5 *���, >.B/,��'�$9���$@ 6 ��=�'� �8 6��! $�5��'� �' 2&(� y 8�'����� yC = 4,09 @ &$�%�'�� 2&(�%
y′ *���, >BA/,< ������� ��3�$��'�4�$=����"� � ��'�����3�� �$���� Sy′ωA

@
Sx′ωA

@ &�����$D'�@ �$$�6����6���$@ 2&(� 3$$�5��'� x′ � y′ *���, >B0@>B;/ � 2&(�% ��3�$��'�4� ! &�$)'5�" ωA *���, >../, 
$ &�'6��%<���)'9��' 6 �$$�6����6�� � #$��%�'�� *+,>A/ &$�%�'��

Sy′ωA
=

∫

F

x′ωAdF = δ

(

4 ·

2,18

2
·

(

2

3
· 120 +

1

3
· 80

)

−

−4 ·

1,82

2
·

(

2

3
· 80 +

1

3
· 120

)

− 1,82 · 10 ·

80

2

)

= −120,533
��5,

Sx′ωA
=

∫

F

y′ωAdF = δ

(

5,91 · 4 ·

120 + 80

2
+ 5,91 ·

10

2
·

2

3
· 80 −

−4,91 ·

10

2
·

1

3
· 80

)

= 678,933
��5.



��S ��������
���� �	����	
�� N����� �
V, ?&��5����� 3$$�5��'� 7����' �89�:' P �

xP = αA
x + xA =

−Sx′ωA
Jyc

+ Sy′ωA
Jxyc

Jxc
Jyc

− J2
xyc

+ xA =

=
−14180,848

1462,303
+ 8 = −1,698

��,

yP = αA
y + yA =

Sy′ωA
Jxc

− Sx′ωA
Jxyc

Jxc
Jyc

− J2
xyc

+ yA =
2572,929

1462,303
= 1,759

��.

��� &�$6��3� 3$$�5��'� �$D�$ 6 :�'�4 5�%9$" &$�(� &�� &$=���$���� 2&(� ��3�$��'�4� ! &�$)'5�"@ &$�����6 �9$@ �'&�����@

ωB

B

��

NOP� ���

6 �'�'�$ 3$$�5��'�, 1(5' D�&$������ � �'�'�4�%( �$�3%,

$�%����'� 2&(�' �' ���, >.>�'8 6'���� ��&��4 ωB *&$ �'=86'��( &$�(�'/ � $3'8 6'��=�� &�$)�

�
6 ��" :$�4�� �%=��6 ! %�'��3$6@ ��$ %&�$)'��&�$7�5%�% %��$D���� &$ &�'=6��% <���)'9��', < ���������3�$��'�4�$=����"� � ��'����=�3�� �$���� 

Sy′ωB
=

∫

F

x′ωBdF = δ ·
1

2
· 4 · 40

(

2

3
· 2,18−

1

3
· 1,82

)

= 13,576
��5,

Sx′ωB
=

∫

F

y′ωBdF = δ ·
1

2
· 4 · 40 · 5,91 = 94,545

��5.


�$6����� 3$$�5��'� 7����' �89�:' P �

xP = αB
x + xB =

−Sx′ωB
Jyc

+ Sy′ωB
Jxyc

Jxc
Jyc

− J2
xyc

=
−2482,424

1462,303
= −1,698

��,

yP = αB
y + yB =

Sy′ωB
Jxc

− Sx′ωB
Jxyc

Jxc
Jyc

− J2
xyc

=
2572,929

1462,303
= 1,759

��.

��'����� &$�%�'(��� ���� D�,�$D�$ &���!$5��4 3 8'3�(�����4�$"
�'��� 8'5'��

�
$&��5�����( ��3�$��'�4�$9$ �$����' ����7��,0, 1��$�� 2&(�% ��3�$��'�4� ! &�$)'5�" ωP

������� &�� &$�(��
6 7����� �89�:' P � �'�'�4�$" �$�3� A *���, >.-/, 
$6$�$� �'5�%�=6�3�$�' $� �'&�'6����� PA 3 PB &�$��!$5�� &$ �'�$6$" �����3�@
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A

E

B

D

P

� �
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�����

�
����

��
���

��
���

P

ωP

NOP� ��� NOP� ���

&$2�$�% ��3�$��'�4�'� 3$$�5��'�' �$�3� B &$ $��$����( 3 �$�3�
A &$�$D����4�'� � �'6�' %56$���$" &�$)'5� ���%9$�4��3' PAB �

ωP
A,B = 1,759 · 8 = 14,076

, ?� �$�3� B 3 D �'5�%� 6�3�$� &$6$�'=��6'���� &�$��6 �'�$6$" �����3�@ $���'� $���7'���4�%( &�$)'54,

$2�$�% ωP

A,D = 14,076−1,697·10 = 2,900
,	 �$�3� E &$6$�$� �'5�%�'=6�3�$�' � &$�(�$� 6 P &�$��!$5�� &$ �'�$6$" �����3�@ 6 ��8%�4�'��

ωP
A,E = 2,900 + (10 − 1,759) · 4 = 30,062

, M' ���%�3� >.+ �8$:�'D��'
&$�%����'� 2&(�',;, ?&��5����� 3$���'��% D @ 8'5'()%( 9�'6� � ��3�$��'�4� �
&�$)'5�, M'!$5�� &�$)'54 &$���$���$" 2&(� ωP

SωP
=

∫

F

ωP dF =

= 0,2

(

30,062− 2,9

2
· 4 +

14,076− 2,9

2
· 10 +

14,076

2
· 8

)

= 33,302
��4.


$�%�'�� D = SωP
/F = 33,302/4,4 = 7,568

��2.A, �&(�' 9�'6� ! ��3�$��'�4� ! &�$)'5�" ������� ω = ωA − D����� 6�5 *���, >B-/,

ω

��
���

������
������

����
�����

NOP� ��R



��� ��������
���� �	����	
�� N����� �
��� &�$6��3� 6 ������ &�$)'54 &$���$���$" 2&(� @ �,�,��3�$��'�4�$=��'�����3�" �$����, 
���� Sω = (22,49 − 10,47)/2 ·

· 4 + (6,51− 10,47)/2 · 10 + (6,51− 7,57)/2 · 8 = 24,04− 19,80− 4,24 = 0
,


�$6��3' 6 &$����',
.B, < ������� ��3�$��'�4� " �$���� ����7�� ������� Jω

, ���$=D'�� 2&(�% ω *���, >B-/ �'�% �' ��:�, 
���9�'� :���� &$ &�'6��%<���)'9��', ���$D'�� &�$)'54 2&(� �' �� $�5��'�% &$5 7����$�
��D����, ?�5��'�% 6 5����� ���#�$��

Jω =

∫

F

ω2dF = δ

(

22,49

2
· 4 ·

(

2

3
· 22,49−

1

3
· 10,47

)

−

−

10,47

2
· 4 ·

(

1

3
· 22,49−

2

3
· 10,47

)

−

−

10,47

2
· 10 ·

(

1

3
· 6,508−

2

3
· 10,47

)

+

+
6,508

2
· 10 ·

(

2

3
· 6,508−

1

3
· 10,47

)

+

+
6,508

2
· 8 ·

(

2

3
· 6,508−

1

3
· 7,569

)

+

−

7,569

2
· 8 ·

(

1

3
· 6,508−

2

3
· 7,569

))

=

= 0,2(517,42 − 10,82 + 251,84 + 27,61 + 47,27 + 87,09) = 184,096
��6.

�����=&�$9�'��' $&��5������ ��3�$��'�4�$9$ �$����' ����7��&��6�5��' �' �, ��,

���� 	
��

������ 
������ 
�����
�
 ��
����

FGHGIG J�L 	 �$�3$�����$�% ����D�( $�3� �$9$ &�$#��� &��=�$D�� 3�%��)�" �$���� M = 1 M� *���, >.V/, M'"�� $��$�����4� "%9$� 8'3�%��6'��� θ � �'3���'�4�$� 3'�'���4�$� �'&��D����, �$=5%�4 %&�%9$��� �'����'�' E = 0, 7 · 105�
'@ 3$2##�7���� 
%'��$�'
ν = 0, 3

, T'8��� 5'� 6 ���������'!,
WXYXZ[X
., T'8:�6'�� ������� �' ��� 5���� ! &���$%9$�4��3' s1 = 42 ��@

δ1 = 1 ��@ s2 = 15 ��@ δ2 = 2 ��@ s3 = 22 ��@ δ3 = 1 �� *���, >.0/,< ������� 9�$��������3%( !'�'3�������3% D���3$��� �������

Jd = (1/3)(42 · 13 + 15 · 23 + 22 · 13) = 61, 33 ��4. *+,-V/


